7= A EY S mobELNO): BWP 10503-A1
R ( s1ZE ): 161.5X94X60mMM

7= Gk EE B (WEIGHT):

-

11223004

L |

® @

=S (NUMBER): 10002-B1 )
TR AFR(NAME): 58 EPIVALVE
FLESS (P/ANO) :BAH10025-A3

4 BE(MATERIAL):ABS (LIGHT GREY:FS20412)
FHHE(QUANTITY):1 PCS

B (WEIGHT)

7= i 45 (NUMBER): 10503-C1 A
PR AR (NAME): R 5% HYPOTHECA
5 HL445-(P/NO): BAH10025-B1B2
1 FH(MATERIAL): ABS(LIGHT GREY:F$20412)

I (QUANTITY) : 1 PCS
i (WEITHG) :

J

TR S (NUMBER): 10002-D1
eI AR (NAME): [ 7K FEIGASKET
B (MATERIAL): #IKRUBBER

I (QUANTITY) : 1 PCS
K ~F (SIZE): 155x87x1.8 mm

B HY(WEIGHT): )

2 ik S (NUMBER) : M4 X 10 )
FEIMAFR(NAME) : 4% COPPER NUT
FUK(STANDARD) : M4 X 10

¥ BHMATERIAL): 4 COPPER
FHHL(QUANTITY): 6 PCS

B % (COLOR): it COPPER

77 45 (NUMBER): KM4 X 18 )
FEIMAFR(NAME): GRUB SCREW

~N

7 S (NUMBER): KN-500-B1
PR FRNAME) : B822 2% SCREW LID
=

®
B (STANDARD): M4 X 18 HEE4E-(P/NO) : BAH10001-A3
#1 BHMATERIAL) : STAINLESS STEEL 7 B (MATERIAL) : ABS(LIGHT GREY:F$20412)
JHHE (QUANTITY): 6 PCS JHHE(QUANTITY): 6 PCS
VAN

FE RS (NUMBER): M4 X5 N\ (
FE A4 FR(NAME) @ 42 COPPER NUT
A (STANDARD): M4 X5
#OEHMATERIAL): i COPPER
HH(QUANTITY): 4 PCS
g {4 (COLOR): 4% COPPER

J L J

£ FR NAME ]S SIZE (mm) | CARTON No. G.W (xc) N.W (k) FEAEECE QuanTiTy|  PEAY POLYBAG

/INFE SAMLL CARTON

KFH BIG CARTON




